Given the subnet Mask 255.255.255.192. What is the host address and subnet of the following IP address: 197.1.2.67.

O Subnet = 3 and host address 3

O Subnet = 3 and host address |

O Subnet = 2 and host address |

O Subnet = 2 and host address 3

® Subnet = 1 and host address 3

Clear my choice
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The classtull IR addresS 19288 1T & i i i i s e s it

None of the mentioned

Neither "class C address” nor "includes a 16-bit host” is true

®

Is a Class C address

Both "class C address” and “includes a 16-bit host” are true

Includes a 16-bit host number

Clear my choice
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Consider Lhe ligure below where o packet ID Y, which is sent from nelwork A, is received by router Rl Lo be foswarded 16 G host thal exists in nelwork B.How many
fragments are Lo be generaled?

Length= 10=Y More Fragments=0 Offset=0
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‘ Network A Tip: Length value includes header

R1

Length = ID= More Frags= 27?7 Offset =

m m "

Length = D= More Frags = 777 Offset =

m m m

| Length= D= | More Frags =727 Offset= Il

m m m

Length = D= More Frags =777 Offset =

m m m

1)
Network B (MTU = 1420) Tip: Length value includes header
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= Nane of the values mentioned



Subnet the Class C IP Address 185.11.0 So that you have 10 subnets each with a maximum 12 hosts on each subnet. List the address on host 1 on subnet 10

® 19511161

O g5

- POWEROUI

© yes1117

O 1951149

Clear my choice



EIGRP send the hello message after every seconds

O 15s

@® 5 seconds (LAN), 60 seconds (WAN)

= [ZOWERO@UNIT

O 5 seconds (LAN), 5 seconds (WAN)

360s

Clear my choice
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VoumoprSvdocomoctovhitodbytholmpamponytompmonmkwmmorpm.mmkoisasondyounoodot least 125 subnels in theair
large natwork with at least 125,000 hosts on each of the subnels. What is the class of this iD and Whaot would be the subnet mask for this network?

O Class B, subnetmask = 258.255.0.0

O None of the choices mentioned

©  Class C, subnetmask = 265255 2550

® Cioss A subnetmask = 255.254.0.0

Claar my choice
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ire below where a packet ID Y, which is sent from network A is 'ﬂ:‘c;le G 1 Length= ID= More Frags =777 Offset
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Length= ID=Y More Fragments=0 Offset=0 |
4000 il '
Network A Tip: Length value includes header Network B (MTU = 1420) Tip: Length value
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g, GV O 1440,v,1,0
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R1
O None of the values mentioned
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SOID 192.168.64.2/30 \ SO/t 192.168.64.6
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Length= ID=Y More Fragments=0 Offset=0 1
Network A Tip: Length value includes header ! '
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Length= ID= More Frags=77? Offset =
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